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BT T2 MRl T8 T =% BT % Mg T8 T =%
HX 40,702 85976 40,941 45,035
RIRET1T 6 15 9 6
RIRET2T 25 56 27 29
RIRET3T 179 584 284 300
RIRET4T 417 969 481 488
B 627 1,624 801 823
REH 2,779 6,151 2,867 3,284
L&A 4,345 9,341 4,357 4,984
BE 2,669 5,844 2,826 3,018
B AN 1,330 2,817 1,319 1,498
BERT 1,415 1,950 938 1,012
BER2T 943 1,644 810 834
BERST 768 1,856 891 965
B 3,126 5,450 2,639 2,811
BEXRE 287 636 305 331
= 2,182 4,783 2,275 2,508
hERE 631 1,388 635 753
e 2,440 4,969 2,402 2,567
25 L ET 2,344 4,977 2,382 2,595
B &AL BT 75 147 62 85
HEFILET1T 568 1,218 564 654
HEFILET2T 599 1,221 580 641
HEZFILAT3T 700 1,575 762 813
g 1,942 4,161 1,968 2,193
B & it B Fr ET 683 1,521 738 783
BHEREBET1T 575 1,161 566 595
BHERERET2T 774 1,703 828 875
BHERERETST 791 1,591 728 863
BHERERET4T 510 915 430 485
HEKERETST 836 1,652 788 864
HEERET6T 908 1,897 921 976
BHERERET7T 905 1,831 884 947
HERERETST 72 202 97 105
£t| 5371 10952 5,242 5,710
HEF R FET 2,004 4,095 1,997 2,098
S|EFET1T 647 1,588 780 808
S|EFET2T 768 1,715 808 907
S|EFET3 T 745 1,366 629 737
g 2,160 4,669 2217 2,452
ERE1T 589 1,307 625 682
EIRET2T 386 1,026 506 520
EREIST 524 1,308 643 665
EIRETAT 695 1,430 626 804
EIZEIST 555 1,193 593 600
g 2,749 6,264 2,993 3,271
ME A 2,927 6,142 2,889 3,253
J\THET1T 32 35 16 19
J\THET2T 24 51 26 25
J\THEI3T 50 106 47 59
B 106 192 89 103
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